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(1) In Classical Greek certain roots/stems and certain suffixes show regular alternations in
both the quality and quantity of vowels. The suffix -tep-, which is used in the formation of
the noun natnp “father” and of the adjective anatwp “fatherless,” is a good example.
Consider the forms of this suffix in the (partial) paradigms given below:

NOM SG natnp AnaTWp
ACCSG natépo anatopao
GEN SG noTpog

These alternations in the quality (-tnp-, -tep- vs. -twp-, -top-) and in the quantity (-tnp-
vs. -tep- vs. -1p- [= absence of a vowel]) of vowels is known as ABLAUT (also called
APOPHONY or VOWEL GRADATION). Schematically, the ablaut alternations in Classical
Greek can be set up as follows:

Lengthened-Grade Full-Grade Zero-Grade
n € o
) o

For descriptive purposes, the e-vowel is considered to be the basic vowel in this set of
alternations. Roots/stems and suffixes with this vowel (¢) are said to be in the full (or basic)
e-grade (-tep-). The other vowels that participate in ablaut are labelled as follows: o = o-grade
(-top-), n = lengthened e-grade (-tnp-), w = lengthened o-grade (-twp-), and @ = zero grade

(-1p-).

(2) As noted above, ablaut is found in both roots/stems and suffixes. An example of different
ablaut grades in a root is provided by the Greek verbal root ¢épw “bear, carry.”

9épw “bear, carry” —>full e-grade

@opog “tribute” —>full o-grade

dippoc “two-man chariot board” —>zero-grade (root -¢p-)
owp “thief” —>lengthened o-grade

(3) In Classical Greek ablaut functions as a grammatical device that helps to signal
morphological information (categories) of nouns/adjectives and verbs. For example, the
lengthened grade form of the suffix -tnp in rathp is a signal for NOM case and SG number, as

opposed to -tep-, which is found in the VOC/ACC SG and NOM/ACC PL, and as opposed to
-tp-, which is found in the GEN/DAT SG and PL. In verb forms ablaut carries information
about tense/aspect, person and number, and so forth. Ablaut differences in verb forms can be
illustrated by the principal parts of the verb Aeinw “leave.” In the present tense/aspect
(present system), this verb has the full e-grade Aewn-. In the aorist tense/aspect, we find the
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zero-grade Mn- (absence of -€) and in the perfect active the o-grade Aowrn-. In Classical Greek
verbs that show ablaut alternations, this is the regular pattern of vowel alternations, full e-
grade in the present tense, zero grade in the aorist, and full o-grade in the perfect active.

Exercise 1

Identify the ablaut grades of the roots in the following words:
“fly” nérecBon noTN ntécbon
“hold” £xewv dxot OXEWV
“persuade”  meifewv nénofo mBelv
“leave” Aeinewv Aédoma Anelv
“flee” QEVYEWV QUYElY
“be” nélopat ndAog nAéoBan
“family” Yévog Yovog yiyvopa

Exercise 2

Make a list of five verbs in Greek that show ablaut alternations with the same pattern as
found in Aeinw.

(4) Verbal roots that end in liquids (e.g., ¢0ep- “destroy,” oteA- “equip”) or in nasals (tep-
“cut,” pev- “wait for”), and verbal roots that contain the same (e.g., depx- “see,” mev0-
“suffer”), show peculiar developments that may obscure ablaut grades. We noted that the
thematic aorist formations generally have zero grade of the root, and we cited Aeinw “leave”
PRES vs. éMnov AOR as an example. The verb dépxopat “see” forms a thematic aorist not
unlike the two forms just cited. The theme vowel is added to the zero grade of the root.
Following the rule of formation (zero grade of root + thematic vowel -o- (for 15SG)) we would
expect the 1SG AOR to be €-8px-0-v since -dpk- is zero grade of the root depx-. This is, in
fact, precisely the formation that is found in Greek. The trick is that -p- between two
consonants develops to either -po- or -ap-, so that Greek ends up with a distinctive-looking
zero grade form £dpaxov, but it is zero grade nonetheless.

To take another example, the verb root tev- “stretch” forms an adjective by adding a suffix
-16-, -~ to the zero grade of the root. Following the rule of formation (zero grade of root +
suffix -t6-/-1h-), we would expect to find an adjective of the form *tv16-, *tvtni-. Once
again, this is precisely the form that Greek has, but -v- between consonants develops to the
vowel -a-, so that the zero grade form taté-/tatn- is disguised, but it is zero grade just the
same.

(5) The table below sets out the ablaut grades of roots with liquids and nasals:

e-grade o-grade zero grade
depx- dépxopat dedopka £dpaxov
OTEA- oTéA® o1t0A0G £oTaApal
YeEV- Yévog Yovog ylyvopo
YEYOUEV

Exercise 3
Determine the ablaut grade of the root in the following nouns and verbs. Provide meanings

for the words that are not glossed:

BéAlog BaAlw “throw” BoAn

telvw “stretch” T0vVOg Tétapal



npabeiv nénopba népbo “destroy”

névBog “grief” ndBog nénovOa
Topog Tépw “cut”
éve “wait for” povn lpvo
m pip
Exercise 4

Determine the ablaut grade for the following roots and suffixes. Provide the meanings for
the words that are not glossed:

96vog “murder” Enegvov
¢Beipw “destroy” 9Bopd £9Boppon
TéTPOPOL Tpodg Tpéew “nourish”
avip “man” avep avdpdc
TpoTOG étpamov Tpénw “turn”
dopd dépw “skin” daptog
vootog “return” Néotwp AoPEVOg
¢péva “diaphram” agpova ¢opooti

opNv &opwv

éAedooponr “come, go”  HiAvBov eiAnrovBo (Homeric)



